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What pattern do you see? L1 [12[13 14[15[16(17{18[19|20 E
You can use the hundred chart. ) 21 (22123124125 2627|2829 (30|
12 |7 29 57 :5; 3132|33[314[35]36[37[3839[40]
il T 41 [42[u3|uy(us/ue(u7|u8(u9l50| §
»  The pattern rule is it '51152/53/54/55/56/5758|59/60] *
. , l61]62]63|64]65[66/67|6869170
E Look at the ones digits. What is the 7217371757677 78179180 |
« pattern? The patternis 2,7 2,7 2, 7, 81|82(83 84|85(86|87(88(89 90|
E and so on. Look at the tens digits. 91192(93194/95:96!97|98(991I00, |
What is the pattern? The pattern
Ex‘lsl l, 2,2, 3, 3,and soon.
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What is the pattern? Write the numbers.
Use a hundred chart if you need to.

@ 33,43, 53, 63, , ;

The patiernrule is

What is the pattern in the ones digits?

What is the pattern in the tens digiis?

@ 69, 65, 61, 57, 53, 49, U5, Ul, 37, 33, :

The patternrule is

Whait is the pattern in the ones digits?

Whait is the pattern in the fens digits?

Think Abﬁuwi;ﬁ?' Number Sense

Write a series of numbers that shows a pattern rule of add 7.
Explain how you did it.



What is the pattern? Write the numbers. | 3

© 20, 24,28, 32, 36, , : i : , ;

What is the pattern rule?

Look at the ones digits. What is the pattern?

Look at the tens digits. What is the pattern?
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0 94, 88, 82, 76, 70, , , , ,
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What is the pattern rule?

Look at the ones digits. What is the pattern?

| Look at the tens digits. What is the pattern?
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Problem JQ!VJT]Q Alqebra
Find the paitern. Write the missing numbers.

@ 25 and 10 is 35.

60 takeaway 10 is 50.

35 and 10 is___ . 60 takeaway 20 is___ -
45 and is -. 60 take away is
_____and is : ____take away is
- __and is . _____ take away is

Home Connection Your child identified and extended number paitern: .
~Home Activity Have your child start with 7 and write the number n='f. 1
that is made bv adding 4 and explain the number pattern.




